
Ianʼs arrived safely at the Tower of London, where Snide is about to make her 
big heist! However, sheʼs set up a series of laser trip wires to throw him off. Help 
Ian make his way safely across the room by finding out which laser beam angles 
are obtuse and which are acute. Once you do that, Ian will know which ones are 
safest and easiest to step over.

A right angle forms a 
square angle.

An obtuse angle is 
greater than a right angle.

An acute angle is less 
than a right angle.

Which of the angles are acute? Which of the angles are obtuse?

Answers: A, B, D, and G are acute.  C, E, and F are obtuse.

Hint:
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